PYTHAGOREAN THEOREM

I.  Terms to know
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Right angle – an angle that measures 90o
Legs (a & b) – the sides that make the right angle.  They are shorter than the hypotenuse.

Hypotenuse (c)– the longest side.  It is always the side opposite the right angle

Pythagorean Theorem:
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The sum of the squares of the LENGTHS of the legs of a right triangle are equal 


to the square of the LENGTH of the hypotenuse.

II.   Finding a missing side

Find the length of the missing side
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III.  Finding an approximate length
If the square of the length of a missing side is NOT a perfect square, then you will only be able to approximate the length.  You will be told how accurate your answer will need to be.
Find the length of the missing side to the nearest 10th.
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Legs (form the right angle)





Hypotenuse (longest side)





8 cm





6 cm
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5 in
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